
Taylor Polynomials and Taylor’s Inequality 

 

Calculus:  2nd Edition  by Dennis Berkey 

 

Directions: a) Find the Taylor polynomial )(xPn for the function at a.    

  b) Evaluate )(cPn  

c) Compare f(c) to )(cPn  by determining how many decimal places 

the approximation is accurate to (Find the error bound) 

 

 

1.2  c           1 n          1  a        x3f(x)  .8

.2  c        2 n            0  a           xe f(x)  .7

1.2  c         2 n          1  a            
x

lnx
  f(x)  .6

2. c             1 n          0  a      sin  f(x)  5.

42c            2n          
4

 acosx       f(x)  4.

32c            3n          
6

 a sinx        f(x)  .3

4.c            3n          0 a          e  f(x)  2.

2.c            3n          0 a           1)ln(x  f(x)  .1
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Determine a bound on the accuracy of the given approximation  

for the indicated range of x 
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